» ‘ 14 ‘ % ‘ 5

" ‘ B8 2

20 0 L] 7 6 5 4 3 2 1
@D HousNG | @ TPA @ rower TERMNAL | @ sianal TERMNAL| B STNELRLAYS | DMENSION | DIMENSION | DIMENSION | DIMENSION | DIMENSION
e B c o £
CKT SIZE MATERIAL: MATERIAL:
MATERIAL MATERIAL: E%’SF’E:R ALLOY Em?SSH_BRDNZE MATERIAL:
PBT. FILLED PBT. FILLED | TIN_OVER NICKEL TIN_OVER NICKEL NYLON, UNFILLED
W/SELECT GOLD W/SELECT GOLD
2P-12S 172512-3212 46708-3212 173693 xx 70058-xxxx 46709-0004 63.81 55.01 26.48 1237 43.74
2P-18S 172512-3218 46708-3218 173693 -%%x% 70058-%%x%x% 46709-0006 68.89 60.09 31.80 17 .44 4882
2P-24S 172512-3224 46708-3224 173693-xxxx 70058-xxxx £6709-0008 73.97 65.17 36.85 2253 53.90
4LP-12S 172512-3412 46708-3412 173693 -xxxx 70058-%%xx 46709-0004 78.81 70.01 4148 12.37 5874
4P-18S 172512-3418 46708-3418 173693 70058-xxxx 46709-0006 83.89 75.09 46.80 17.44 63.82
4P-24S 172512-3424 46708-3424 173693-sxxx 70058-xxxx 46709-0008 88.97 80.17 51.85 22.53 68.90
6P-12S 172512-3612 46708-3612 173693-xxxx 70058-xxxx 46709-0004 93.81 85.01 55.73 12.37 73.74
6P-18S 172512-3618 46708-3618 173693 -sexex 70058-x%xx 46709-0006 98.89 90.09 61.85 17.44 78.82
6P-24S 172512-3624 | 46708-3624 173693-xxx 70058-xxx 46709-0008 103.97 95.17 66.93 2253 83.90
®
(3 REQUIRED)
EXPLODED VIEW
SIGNAL HOUSING
MAIN HOUSING
TPA
" DM D' ~‘
f I 7 #3.20:005(2)
155 17.72
[ | | | T
t 21010
| | ° i
I DIM 'C’ | —
* 251 (]
| | 18.16 REF -—L DIM 'E'+0.,10 —
I ] 4 1
32.6 l 1043 T 1 o -
[ 1 ’ é g PANEL CUTOUT
“ “ | (FRONT VIEW)
DIM 'A'20.75
DM 'B' REF NOTES:
1. SEE CHART FOR MATERIAL DETALS
2. PART MATES TO MOLEX PLUG SERIES 172458.
3. ASSEMBLY SHOWN FOR REFERENCE ONLY. EACH ITEM HAS TO BE ORDERED SEPARATELY.
4. PANEL MOUNTING HARDWARE: (2) M3 X 05 X 4.00 LG PRECISION SHOULDER SCREWS
AND (2) M3 X 05 HEX NUTS TO BE PURCHASED SEPARATELY BY CUSTOMER.
S. SEE SD-173693-001 FOR POWER TERMINAL DETALS.
6. SEE SD-70058-xxx FOR SIGNAL TERMINAL DETAILS.
g g QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
= 2| |syMBoLs| (UNLESS SPECIFIED) MM ONLY 1541 METRC |©@C] PROJECTION
p—— 2 DRAWN BY' DATE TITLE
Z5 ¥ Fiz|w=0 SCHAFER  2014/01/24 TEN6Q RECEPT ASSY
al  _|z CHECKED BY OATE POWER/SIGNAL MIXED
Jog g5 ¥=0 PANEL-TQO-BOARD
% I % ﬁ Q APPROVED BY DATE
ESE & | =0 BPISZCZOR  2016/10/03 mOIQx
2.5
S 2o ANGUL AR +1/2° MATERIAL NQ. DOCUMENT NO. SHEET NO.
w229
I zxg DRAFT WHERE APPLICABLE|_SEE CHART SD-172512-001 1 QF 1
Yuaou=g SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A 2 WITHIN' DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_D_P_AM_T

Rev. G 2012/0/1M

7 6 ‘ 5

4 ‘ 3

2 ‘ 1




» ‘ 14 ‘ % ‘ 5

" ‘ B8 2

20 0 L] 7 6 5 4 3 2 1
@D HousNG | @ TPA @ rower TERMNAL | @ sianal TERMNAL| B STNELRLAYS | DMENSION | DIMENSION | DIMENSION | DIMENSION | DIMENSION
e B c o £
CKT SIZE MATERIAL: MATERIAL:
MATERIAL MATERIAL: E%’SF’E:R ALLOY Em?SSH_BRDNZE MATERIAL:
PBT. FILLED PBT. FILLED | TIN_OVER NICKEL TIN_OVER NICKEL NYLON, UNFILLED
W/SELECT GOLD W/SELECT GOLD
2P-12S 172512-3212 46708-3212 173693 xx 70058-xxxx 46709-0004 63.81 55.01 26.48 1237 43.74
2P-18S 172512-3218 46708-3218 173693 -%%x% 70058-%%x%x% 46709-0006 68.89 60.09 31.80 17 .44 4882
2P-24S 172512-3224 46708-3224 173693-xxxx 70058-xxxx £6709-0008 73.97 65.17 36.85 2253 53.90
4LP-12S 172512-3412 46708-3412 173693 -xxxx 70058-%%xx 46709-0004 78.81 70.01 4148 12.37 5874
4P-18S 172512-3418 46708-3418 173693 70058-xxxx 46709-0006 83.89 75.09 46.80 17.44 63.82
4P-24S 172512-3424 46708-3424 173693-sxxx 70058-xxxx 46709-0008 88.97 80.17 51.85 22.53 68.90
6P-12S 172512-3612 46708-3612 173693-xxxx 70058-xxxx 46709-0004 93.81 85.01 55.73 12.37 73.74
6P-18S 172512-3618 46708-3618 173693 -sexex 70058-x%xx 46709-0006 98.89 90.09 61.85 17.44 78.82
6P-24S 172512-3624 | 46708-3624 173693-xxx 70058-xxx 46709-0008 103.97 95.17 66.93 2253 83.90
®
(3 REQUIRED)
EXPLODED VIEW
SIGNAL HOUSING
MAIN HOUSING
TPA
" DM D' ~‘
f I 7 #3.20:005(2)
155 17.72
[ | | | T
t 21010
| | ° i
I DIM 'C’ | —
* 251 (]
| | 18.16 REF -—L DIM 'E'+0.,10 —
I ] 4 1
32.6 l 1043 T 1 o -
[ 1 ’ é g PANEL CUTOUT
“ “ | (FRONT VIEW)
DIM 'A'20.75
DM 'B' REF NOTES:
1. SEE CHART FOR MATERIAL DETALS
2. PART MATES TO MOLEX PLUG SERIES 172458.
3. ASSEMBLY SHOWN FOR REFERENCE ONLY. EACH ITEM HAS TO BE ORDERED SEPARATELY.
4. PANEL MOUNTING HARDWARE: (2) M3 X 05 X 4.00 LG PRECISION SHOULDER SCREWS
AND (2) M3 X 05 HEX NUTS TO BE PURCHASED SEPARATELY BY CUSTOMER.
S. SEE SD-173693-001 FOR POWER TERMINAL DETALS.
6. SEE SD-70058-xxx FOR SIGNAL TERMINAL DETAILS.
g g QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
= 2| |syMBoLs| (UNLESS SPECIFIED) MM ONLY 1541 METRC |©@C] PROJECTION
p—— 2 DRAWN BY' DATE TITLE
Z5 ¥ Fiz|w=0 SCHAFER  2014/01/24 TEN6Q RECEPT ASSY
al  _|z CHECKED BY OATE POWER/SIGNAL MIXED
Jog g5 ¥=0 PANEL-TQO-BOARD
% I % ﬁ Q APPROVED BY DATE
ESE & | =0 BPISZCZOR  2016/10/03 mOIQx
2.5
S 2o ANGUL AR +1/2° MATERIAL NQ. DOCUMENT NO. SHEET NO.
w229
I zxg DRAFT WHERE APPLICABLE|_SEE CHART SD-172512-001 1 QF 1
Yuaou=g SZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A 2 WITHIN' DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

tb_frame_D_P_AM_T

Rev. G 2012/0/1M

7 6 ‘ 5

4 ‘ 3

2 ‘ 1




